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Liabilities 
Amount 

Rs. 
Assets 

Amount 

Rs. 

Sundry Creditors 8,000 Cash 30,000 

Bills Payable 33,000 Bills Receivable 6,000 

Capital Accounts  Stock 3,16,000 

                    Rs. 

Ganesh  –  4,00,000 
 Debtors 36,000 

Ramesh  – 2,00,000 6,00,000 Building 2,53,000 

 6,41,000  6,41,000 

 

The Company took over the entire concern with the exception of 

cash and bills payable. The purchase consideration was fixed at 

Rs. 7,50,000. Out of which Rs. 90,000 was paid in cash and the 

balance is shares of company. The expenses of realisation 

amounted to Rs. 3,000. Prepare necessary ledger accounts in the 

books of firm.  

--------xxxx------- 
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ROLL NO..................... 

BC1GI01/21 
ANNUAL EXAMINATION, 2021 

B.COM.-I 

GROUP-I 

PAPER-I 

FINANCIAL ACCOUNTING -I 
TIME: 3 HOURS               M.M. 75 

    MINI.M.25 
uksV:-   lHkh ikap iz’uksa ds mRrj nhft;sA lHkh iz’uksa ds vad leku gSaA  
Note:  Attempt all the five questions. All questions carry equal marks.   

 
 

bdkbZ&1/Unit-1 

iz-1- fuEufyf[kr dh iath ¼tuZy½ izfof’V;k¡ dhft, % 
(i) v'kksd ls 12]000 :- izkIr fd;s tks fd fiNys o’kZ mlds [kkrs esa  
 Mwcr _.k esa vifyf[kr fd;s x;s FksA 
(ii)  fyfidksa dks 7]000 :- dk osru ns; gSA 
(iii)  2]00]000 :- dh iw¡th ij 10% C;kt yxkb,A 
(iv)  6]000 :- dh ykxr dk eky jkts'k dks cspk x;k ftldk chtd  
  ykxr ls 10% vf/kd ij cuk;k x;k vkSj ml ij 5%  
  O;kikfjd dVkSrh nhA  
(v)  ,d deZpkjh us 3]000 :- dk eky rFkk 2]000 :- udn pqjk  
  fy,A  
 

Pass Journal entries for the followings : 

(i) Received Rs. 12,000 from Ashok, which were written off 

as bad debts in the previous year. 

(ii) Salaries due to clerks – Rs. 7,000 

(iii) Provide 10% interest on capital of Rs. 2,00,000 

(iv) Supplied goods costing Rs. 6,000 to Rajesh issued invoice 

at 10% above cost less 5% trade discount.  

(v) Goods worth Rs. 3,000 and cash Rs. 2,000 were stolen by 

an employee.  

 

P.T.O.. 
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vFkok/OR 

vUrj Li’V dhft, & 
(i) iqLrikyu ,oa ys[kkadu  
(ii) iw¡thxr O;; ,oa vkxe O;; 
(iii) jksdM+ [kkrk ,oa jksdM+ cgh  
 

Distinguish between – 

(i) Book- keeping and Accounting 
(ii) Capital expenditure and Revenue expenditure 
(iii) Cash Account and Cash Book  

 

bZdkbZ&2/Unit-2 

iz-2- Jh lqjs'k pUnz dk 31 ekpZ] 2019 ds ryiV ¼ijh{kk lwph½ ds vk/kkj ij 

O;kikj ,oa ykHk gkfu [kkrk rFkk fpV~Bk rS;kj dhft, &   

ryiV ¼31 ekpZ] 2019 dks½ 

[kkrksa ds uke 
fodyu 'ks"k 

:- 
lekdyu 'ks"k 

:- 
iw¡th  1,00,000 

gkFk esa jksdM+ 15,000  

cSad vf/kfod’kZ  20,000 

dz; ,oa fodz; 1,20,000 1,50,000 

fodz; okilh ,oa dz; okilh 10,000 20,000 

osru 25,000  

dj ,oa chek 5,000  

Mwcr _.k ,oa Mwcr _.k vk;kstu 5,000 10,000 

fofo/k nsunkj ,oa fofo/k ysunkj 50,000 20,000 

deh'ku  5,000 

fofu;ksx 40,000  

LdU/k ¼1 vizSy] 2018 dks½ 30,000  

vkgj.k 14,000  

QuhZpj 6,000  

izkI; foi= ,oa ns; foi= 30,000 25,000 

3,50,000 3,50,000 

[7] 

 

bZdkbZ&5/Unit-5 

iz-5- lk>snkjh QeZ ds fo?kVu ls D;k vk'k; gS rFkk fo?kVu ij dh tkus 

okyh vko';d iath ¼tuZy½ izfof’V;k¡ dhft,A  

 What is meant by dissolution of partnership firm and give 

necessary journal entries on dissolution.  

vFkok/OR 

x.ks'k vkSj jes'k 3%1 ds vuqikr esa lk>snkj gSaA 31 ekpZ] 2019 dks 

mUgksus QeZ dks lhfer nkf;Ro okyh dEiuh esa cnyuk r; fd;k ml 

fnu QeZ dk fpV~Bk fuEukuqlkj Fkk %  

nkf;Ro 
jkf’k  
¼:-½ 

lEifRr;k¡ 
jkf’k  
¼:-½ 

fofo/k ysunkj 8,000 jksdM+ 30,000 

ns; foi= 33,000 izkI; foi= 6,000 

iw¡th [kkrs %  LdU/k 3,16,000 

          :- 
x.ks'k & 4]00]000 

 nsunkj 36,000 

jes'k  & 2]00]000 6,00,000 Hkou 2,53,000 

 6,41,000  6,41,000 

 
dEiuh us jksdM+ ,oa ns; foi= dks NksM+dj laiw.kZ O;olk; dk dz; 

fd;kA dz; izfrQy 7]50]000 :- rFkk blesa 90]000 :- uxn rFkk 'ks’k 

va'kksa esa fn;k tkuk FkkA fo?kVu O;; 3]000 :- FksA QeZ dh iqLrdksa esa 

vko'd [kkrs rS;kj dhft,A  

Ganesh and Ramesh are partners in 3:1 ratio. On 31
st
 March, 2019 

they decided to convert the firm into a limited company. On that 

date their Balance Sheet was as under:  

 
P.T.O.. 
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vk;Zu vkVkseksckbYl 10% okf’kZd dh nj ls vo'ks’k jde ij C;kt 

ysrk gSA dzsrk dEiuh us ykxr ewY; ij 15% izfr o’kZ gzkl vifyf[kr 

djuk r; fd;kA  

vki rhu o’kksZa ds fy, jk;iqj VªkaliksVZ dEiuh dh iqLrdksa esa vko';d 

[kkrs rS;kj dhft,A [kkrs izfro’kZ 31 ekpZ dks can fd;s tkrs gSaA  

Raipur Transport Company purchased on old Bus from Aryan 

Automobiles on 31
st
 April, 2016 on hire purchase system. The 

cash price of the buss was Rs. 15,98,000 which was payable as 

under : 

On Delivery  4,00,000 Rs. 

31
st
 March, 2017 6,00,000 Rs. 

31
st
 March, 2018 5,00,000 Rs. 

31
st
 March, 2019 3,18,500 Rs. 

Aryan Automobiles charged interest @ 10% per annum on the 

unpaid amount. The purchasing company decided to write off 

depreciation @ 15% of the cost price each year you are required 

to give the necessary ledger account in the books of Raipur 

Transport Company for three years. Accounts are closed on 31
st
 

March every year.   

vFkok/OR 

^fdjk;k dz; i)fr^ vkSj ^fdLr dz; i)fr^ dks le>kb;s rFkk nksuksa esa 

varj crkb;sA  

Explain ‘Hire Purchase System’ and ‘Installment Purchase 

(Payment) system’ and state the difference between these two.  

[3] 
 

lek;kstu & 
(i) osru 1]000 :- rFkk dj 2]000 :- vnRr gS ysfdu chek ds 500  

 :- iwoZnr gSaA 

(ii) deh'ku ds 1]000 :- vfxze izkIr gS tksfd vkxkeh o’kZ esa fd;s  

 tkus okys dk;Z ls lacaf/kr gSaA 

(iii) fofu;ksx ij vftZr C;kt 2]100 :- rFkk vf/kfod’kZ ij C;kt  

 3]000 :- ns; gSA 

(iv) QuhZpj ij 10% gzkl yxkb;sA 

(v) 31 ekpZ] 2019 dks LdU/k dk ewY;kadu 45]000 :- ij fd;k x;kA  

From the following Trial Balance of Shri Suresh Chandra as on 31
st
 

March, 2019, prepare Trading and Profit & Loss Account and Balance 

Sheet  
Trial Balance (as on 31

st
 March, 2019) 

Name of Accounts 

Debit 

Balance 

Rs. 

Credit 

Balance 

Rs.  

Capital  1,00,000 

Cash – in –hand  15,000  

Bank Overdraft  20,000 

Purchases and Sales 1,20,000 1,50,000 

Sales Returns and Purchase Returns 10,000 20,000 

Salaries 25,000  

Tax and Insurance 5,000  

Bad Debts and Provision for Bad Debts 5,000 10,000 

Sundry Debtors and Sundry Creditors 50,000 20,000 

Commission  5,000 

Investment 40,000  

Stock (On 1
st
 April, 2018) 30,000  

Drawings 14,000  

Furnitures 6,000  

Bill Received and Bills Payable  30,000 25,000 

3,50,000 3,50,000 

P.T.O. 
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Adjustments : 

(i) Salaries Rs. 1,000 and Taxes Rs. 2,000 are outstanding but Rs. 

500 for insurance is prepaid. 

(ii) Commission Rs. 1,000 has been received in advance for work 

to be done next year. 

(iii) Interest accrued on investments Rs. 2,100 and interest due on 

overdraft is Rs. 3,000. 

(iv) Depreciation on furniture at 10%. 

(v) Stock on 31
st
 March, 2019 is valued at Rs. 45,000.  

vFkok/OR 

v'kqf);ksa ds lq/kkj dk D;k vk'k; gS\ ,d i{kh; ,oa f}i{kh; v'kqf);ksa 

rFkk muds lq/kkj dks Li’V :i ls le>kb;sA  

What the meaning of rectification of errors? Explain clearly one-

sided and two-sided errors and their rectifications.  

 
bdkbZ&3/Unit-3 

iz-3- 1 vizSy] 2016 dks ,d e'khu 95]000 :- esa dz; dh x;h vkSj bldh 

LFkkiuk ij 5]000 :- O;; gq,A 30 flrEcj] 2019 dks bl e'khu dk 

60]000 :- esa fodz; dj fn;k x;kA gzkl dh x.kuk 20% izfr o’kZ dh 

nj ls LFkk;h fdLr i)fr ds vuqlkj dh tkrh gS rFkk [kkrs 31 ekpZ 

dks can gksrs gSaA  

 vko';d [kkrs [kksfy, ;fn & 

(i) gzkl ds fy, vk;kstu [kkrk ugha j[kk tkrk gSA 

(ii) gzkl ds fy, vk;kstu [kkrk j[kk tkrk gSA 

 

[5] 

 

On machine was purchased on 1
st
 April, 2016 Rs. 95,000 and on 

its establishment Rs. 5,000 were spent. On 30
th

 September, 2019 

this machine was sold from Rs. 60,000. Depreciation is to be 

charged @ 20% per annum under Fixed Installment Method and 

Accounts are closed on 31
st
 March every year. Prepare necessary 

ledger accounts If –  

(i) Provision for Depreciation Account in not maintained  

(ii) Provision for Depreciation Account is maintained.  

vFkok/OR 

xqIr lap; D;k gS\ bldk fuekZ.k dSls fd;k tkrk gS\ blds ykHk ,oa 

gkfu;k¡ fyf[k,A  

What is a Secret Reserve? How is it created? Write its merits and 

demerits.  

 
bZdkbZ&4/Unit-4 

iz-4- jk;iqj VªkaliksVZ dEiuh us fdjk;k dz; i)fr ij 1 viSzy] 2016 dks 

vk;Zu vkWVkseksckbYl ls ,d iqjkuh cl [kjhnhA cl dk uxn ewY; 

75]98]000 :- gS vkSj bldk Hkqxrku fuEukuqlkj fd;k & 

lqiqnZxh ij 4,00,000 :- 

31 ekpZ] 2017 dks 6,00,000 :- 

31 ekpZ] 2018 dks 5,00,000 :- 

31 ekpZ] 2019 dks 3,18,500 :- 

 

 
P.T.O.. 


